Q2 Please rate the following

Answered: 293 Skipped: 0

	STRONGLY AGREE	AGREE	DISAGREE	STRONGLY DISAGREE	NOT APPLICABLE	TOTAL	WEIGHTED AVERAGE	
Q7: Career and Technical Education Center (A)	57.89% 11	42.11% 8	0.00%	0.00%	0.00%	6.48% 19		4.5
Q7: Chino Valley Center (B)	85.71% 6	14.29% 1	0.00%	0.00%	0.00%	2.39% 7		4.8
Q7: Prescott Campus (C)	62.77% 118	32.45% 61	3.72% 7	1.06%	0.00% 0 G	64.16% 188		4.5
Q7: Prescott Valley Center (D)	75.00% 9	25.00% 3	0.00%	0.00%	0.00%	4.10% 12		4.7
Q7: Sedona Center (E)	50.00%	50.00%	0.00%	0.00%	0.00%	1.37% 4		4.5
Q7: Verde Valley Campus (F)	64.52% 20	32.26% 10	0.00%	3.23%	0.00%	10.58% 31		4.5
	58.06%	32.26%	3.23%	0.00%	6.45%	10.58%		
Q7: Virtual Campus (G)	18	10	1	0	2 C	31	•	4.2
Q7: Virtual Campus (G) My leader helps me understand how my	18	10		0		31		4.2
. , , , ,	18	10		STRONGLY DISAGREE		31 TOTAL	WEIGHTED AVERAGE	4.2
My leader helps me understand how my Q7: Career and Technical Education	work is important to the STRONGLY	10 organization	1	STRONGLY	C		WEIGHTED AVERAGE	
My leader helps me understand how my Q7: Career and Technical Education Center (A)	work is important to the STRONGLY AGREE 63.16%	organization AGREE 26.32%	DISAGREE 5.26%	STRONGLY DISAGREE 5.26%	NOT APPLICABLE 0.00%	TOTAL 6.48%	WEIGHTED AVERAGE	4.4
. , , , ,	work is important to the STRONGLY AGREE 63.16% 12 71.43%	organization AGREE 26.32% 5 28.57%	DISAGREE 5.26% 1 0.00%	STRONGLY DISAGREE 5.26% 1	NOT APPLICABLE 0.00% 0	TOTAL 6.48% 19 2.39%	WEIGHTED AVERAGE	4.4
My leader helps me understand how my Q7: Career and Technical Education Center (A) Q7: Chino Valley Center (B)	work is important to the STRONGLY AGREE 63.16% 12 71.43% 5 43.09%	10 organization AGREE 26.32% 5 28.57% 2 42.55%	DISAGREE 5.26% 1 0.00% 0 9.57%	STRONGLY DISAGREE 5.26% 1 0.00% 0 4.26%	NOT APPLICABLE 0.00% 0 0.00% 0 0.53% 1	TOTAL 6.48% 19 2.39% 7	WEIGHTED AVERAGE	4
My leader helps me understand how my Q7: Career and Technical Education Center (A) Q7: Chino Valley Center (B) Q7: Prescott Campus (C)	18 work is important to the STRONGLY AGREE 63.16% 12 71.43% 5 43.09% 81	10 organizatior AGREE 26.32% 5 28.57% 2 42.55% 80 41.67%	DISAGREE 5.26% 1 0.00% 0 9.57% 18	STRONGLY DISAGREE 5.26% 1 0.00% 0 4.26% 8	0.00% 0 0.53% 1 G	TOTAL 6.48% 19 2.39% 7 64.16% 188	WEIGHTED AVERAGE	4.4
My leader helps me understand how my Q7: Career and Technical Education Center (A) Q7: Chino Valley Center (B) Q7: Prescott Campus (C) Q7: Prescott Valley Center (D)	18 work is important to the STRONGLY AGREE 63.16% 12 71.43% 5 43.09% 81 50.00% 6 25.00%	10 organization AGREE 26.32% 5 28.57% 2 42.55% 80 41.67% 5 50.00%	5.26% 1 0.00% 0 9.57% 18 8.33% 1 25.00%	\$TRONGLY DISAGREE 5.26% 1 0.00% 0 4.26% 8 0.00% 0 0.00%	NOT APPLICABLE 0.00% 0 0.00% 0 0.53% 1 G 0.00% 0	TOTAL 6.48% 19 2.39% 7 64.16% 188 4.10% 12 1.37%	WEIGHTED AVERAGE	4. 4. 4.

	CTDONICLY	ACDEE	DICACREE	STRONGLY	NOT	TOTAL	WEIGHTED
	STRONGLY AGREE	AGREE	DISAGREE	STRONGLY DISAGREE	NOT APPLICABLE	TOTAL	WEIGHTED AVERAGE
Q7: Career and Technical Education Center (A)	15.79%	63.16% 12	15.79% 3	5.26%	0.00%	6.48%	3.8
Q7: Chino Valley Center (B)	28.57% 2	42.86% 3	28.57% 2	0.00%	0.00%	2.39% 7	4.0
Q7: Prescott Campus (C)	18.72% 35	48.13% 90	23.53% 44	9.63% 18	0.00% 0 FG	63.82% 187	3.7
Q7: Prescott Valley Center (D)	16.67% 2	50.00% 6	33.33% 4	0.00%	0.00%	4.10% 12	3.8
Q7: Sedona Center (E)	25.00% 1	25.00% 1	25.00% 1	0.00%	25.00% 1	1.37%	3.0
Q7: Verde Valley Campus (F)	9.68%	51.61% 16	29.03% 9	3.23%	6.45% 2 C	10.58% 31	3.4
Q7: Virtual Campus (G)	15.63% 5	50.00%	21.88%	6.25%	6.25% 2 C	10.92%	3.5
The systems and processes at the colle	ge support my getting w	ork done eff	ectively				
,	STRONGLY AGREE	AGREE	DISAGREE	STRONGLY DISAGREE	NOT APPLICABLE	TOTAL	WEIGHTED AVERAGE
Q7: Career and Technical Education Center (A)	15.79% 3	52.63% 10	21.05% 4	10.53% 2	0.00%	6.48% 19	3.7
Q7: Chino Valley Center (B)	28.57% 2	42.86% 3	28.57% 2	0.00%	0.00%	2.39% 7	4.0
Q7: Prescott Campus (C)	19.89% 37	45.70% 85	20.97% 39	12.37% 23 F	1.08% 2 G	63.48% 186	3.7
Q7: Prescott Valley Center (D)	25.00%	41.67%	33.33%	0.00%	0.00%	4.10% 12	3.9
Q7: Sedona Center (E)	25.00%	25.00%	50.00%	0.00%	0.00%	1.37%	3.7
Q7: Verde Valley Campus (F)	19.35% 6	64.52%	12.90%	0.00% 0 C	3.23%	10.58%	3.9
Q7: Virtual Campus (G)	15.63% 5	53.13% 17	21.88% 7	3.13%	6.25% 2 C	10.92% 32	3.6
My supervisor cares about my profession	nal development						
	STRONGLY AGREE	AGREE	DISAGREE	STRONGLY DISAGREE	NOT APPLICABLE	TOTAL	WEIGHTED AVERAGE
Q7: Career and Technical Education Center (A)	57.89% 11	36.84% 7	0.00%	5.26% 1	0.00%	6.48% 19	4.4
Q7: Chino Valley Center (B)	42.86% 3	42.86% 3	14.29% 1	0.00%	0.00%	2.39%	4.2
Q7: Prescott Campus (C)	54.79% 103 F	32.98% 62	10.11% 19	1.60%	0.53% 1 FG	64.16% 188	4.3
Q7: Prescott Valley Center (D)	50.00%	41.67% 5	8.33% 1	0.00%	0.00%	4.10% 12	4.4
Q7: Sedona Center (E)	25.00% 1	50.00%	25.00%	0.00%	0.00%	1.37%	4.0
Q7: Verde Valley Campus (F)	35.48% 11 C	48.39% 15	3.23%	3.23%	9.68% 3 C	10.58%	3.8
Q7: Virtual Campus (G)	46.88% 15	31.25% 10	6.25%	0.00%	15.63% 5	10.92% 32	3.7

	STRONGLY	AGREE	DISAGREE	STRONGLY	NOT	TOTAL	WEIGHTED
	AGREE			DISAGREE	APPLICABLE		AVERAGE
Q7: Career and Technical Education Center (A)	47.37% 9	47.37% 9	5.26% 1	0.00%	0.00%	6.48% 19	4.
Q7: Chino Valley Center (B)	28.57% 2	71.43% 5	0.00%	0.00%	0.00%	2.39% 7	4.
Q7: Prescott Campus (C)	43.09% 81	39.89% 75	11.70% 22	2.13%	3.19% 6 G	64.16% 188	4.
Q7: Prescott Valley Center (D)	50.00%	41.67% 5	8.33%	0.00%	0.00%	4.10% 12	4.
Q7: Sedona Center (E)	25.00% 1	50.00%	25.00% 1	0.00%	0.00%	1.37%	4.
Q7: Verde Valley Campus (F)	35.48% 11	48.39% 15	9.68%	3.23%	3.23% 1	10.58% 31	4.
Q7: Virtual Campus (G)	37.50% 12	34.38% 11	15.63% 5	0.00%	12.50% 4 C	10.92% 32	3.
receive adequate recognition for my eff	orts at work						
	STRONGLY AGREE	AGREE	DISAGREE	STRONGLY DISAGREE	NOT APPLICABLE	TOTAL	WEIGHTED AVERAGE
Q7: Career and Technical Education Center (A)	47.37% 9	36.84% 7	10.53% 2	5.26% 1	0.00%	6.48% 19	4.
Q7: Chino Valley Center (B)	28.57%	71.43% 5	0.00%	0.00%	0.00%	2.39%	4.
Q7: Prescott Campus (C)	38.30% 72 F	40.43% 76	11.17% 21	9.57% 18	0.53% 1 FG	64.16% 188	4.
Q7: Prescott Valley Center (D)	50.00%	41.67% 5	0.00%	8.33% 1	0.00%	4.10% 12	4.
Q7: Sedona Center (E)	25.00% 1	50.00%	0.00%	25.00% 1	0.00%	1.37%	3.
Q7: Verde Valley Campus (F)	19.35% 6 C	58.06% 18	9.68%	6.45% 2	6.45% 2 C	10.58% 31	3.
Q7: Virtual Campus (G)	34.38% 11	34.38% 11	15.63% 5	6.25%	9.38% 3 C	10.92% 32	3.
My supervisor works with me to establish	h meaningful work goals						
	STRONGLY AGREE	AGREE	DISAGREE	STRONGLY DISAGREE	NOT APPLICABLE	TOTAL	WEIGHTED AVERAGE
Q7: Career and Technical Education Center (A)	57.89% 11	26.32% 5	10.53% 2	5.26% 1	0.00%	6.48% 19	4.
Q7: Chino Valley Center (B)	28.57%	57.14% 4	14.29% 1	0.00%	0.00%	2.39%	4.
Q7: Prescott Campus (C)	44.15% 83 F	41.49% 78	7.45% 14	3.72% 7	3.19% 6 G	64.16% 188	4.
Q7: Prescott Valley Center (D)	33.33%	50.00%	8.33% 1	0.00%	8.33%	4.10% 12	3.
Q7: Sedona Center (E)	25.00% 1	25.00% 1	50.00%	0.00%	0.00%	1.37%	3.
Q7: Verde Valley Campus (F)	22.58% 7 C	58.06% 18	6.45%	3.23%	9.68%	10.58%	3.
Q7: Virtual Campus (G)	37.50% 12	34.38% 11	9.38%	6.25%	12.50% 4 C	10.92% 32	3.

	STRONGLY AGREE	AGREE	DISAGREE	STRONGLY DISAGREE	NOT APPLICABLE	TOTAL	WEIGHTED AVERAGE
Q7: Career and Technical Education Center (A)	57.89% 11	36.84% 7	0.00% 0	5.26% 1	0.00%	6.48% 19	4.4
Q7: Chino Valley Center (B)	28.57%	57.14% 4	14.29% 1	0.00%	0.00%	2.39%	4.1
Q7: Prescott Campus (C)	47.34% 89 F	36.70% 69 F	11.70% 22	3.19% 6	1.06% 2 G	64.16% 188	4.2
Q7: Prescott Valley Center (D)	36.36% 4	45.45% 5	9.09%	9.09%	0.00%	3.75% 11	4.0
Q7: Sedona Center (E)	25.00% 1	25.00% 1	50.00%	0.00%	0.00%	1.37%	3.7
Q7: Verde Valley Campus (F)	25.81% 8 C	61.29% 19 CG	6.45% 2	3.23%	3.23%	10.58% 31	4.0
Q7: Virtual Campus (G)	46.88% 15	28.13% 9 F	9.38%	3.13%	12.50% 4 C	10.92% 32	3.8
I understand the role of participatory gov	ernance in the college						
	STRONGLY AGREE	AGREE	DISAGREE	STRONGLY DISAGREE	NOT APPLICABLE	TOTAL	WEIGHTED AVERAGE
Q7: Career and Technical Education Center (A)	26.32% 5	57.89% 11	15.79% 3	0.00%	0.00%	6.48% 19	4.1
Q7: Chino Valley Center (B)	42.86% 3	42.86% 3	14.29% 1	0.00%	0.00%	2.39% 7	4.2
Q7: Prescott Campus (C)	27.13% 51	40.96% 77	21.28% 40	6.91% 13	3.72% 7 G	64.16% 188	3.7
Q7: Prescott Valley Center (D)	16.67%	58.33% 7	25.00%	0.00%	0.00%	4.10% 12	3.9
Q7: Sedona Center (E)	0.00%	75.00% 3	0.00%	0.00%	25.00% 1	1.37%	3.0
Q7: Verde Valley Campus (F)	25.81% 8	45.16% 14	22.58% 7	3.23%	3.23%	10.58% 31	3.8
Q7: Virtual Campus (G)	28.13% 9	37.50% 12	12.50% 4	9.38%	12.50% 4 C	10.92% 32	3.4
I have confidence in the leadership in thi	s organization				,		
	STRONGLY AGREE	AGREE	DISAGREE	STRONGLY DISAGREE	NOT APPLICABLE	TOTAL	WEIGHTED AVERAGE
Q7: Career and Technical Education Center (A)	10.53%	68.42% 13	10.53% 2	10.53%	0.00%	6.48%	3.7
Q7: Chino Valley Center (B)	28.57% 2	71.43% 5	0.00%	0.00%	0.00%	2.39%	4.2
Q7: Prescott Campus (C)	35.64% 67	38.30% 72 F	13.83% 26	11.17% 21	1.06% 2 G	64.16% 188	3.9
Q7: Prescott Valley Center (D)	50.00% 6	33.33%	0.00%	16.67% 2	0.00%	4.10% 12	4.1
Q7: Sedona Center (E)	25.00% 1	50.00%	25.00% 1	0.00%	0.00%	1.37%	4.0
Q7: Verde Valley Campus (F)	29.03% 9	58.06% 18 C	9.68%	3.23%	0.00%	10.58% 31	4.1
Q7: Virtual Campus (G)	25.81% 8	48.39% 15	19.35% 6	0.00%	6.45% 2 C	10.58%	3.8

STRONGLY AGREE	AGREE	DISAGREE	STRONGLY DISAGREE	NOT APPLICABLE	TOTAL	WEIGHTED AVERAGE
47.37% 9	31.58% 6	15.79% 3	5.26% 1	0.00%	6.48% 19	4.21
28.57% 2	71.43% 5	0.00%	0.00%	0.00%	2.39%	4.29
32.98% 62	48.94% 92	11.17% 21	6.91% 13	0.00% 0 G	64.16% 188	4.08
50.00% 6	33.33% 4	8.33% 1	8.33% 1	0.00%	4.10% 12	4.25
25.00% 1	25.00% 1	25.00% 1	0.00%	25.00% 1	1.37%	3.00
19.35% 6	64.52% 20	16.13% 5	0.00%	0.00%	10.58% 31	4.03
25.00% 8	53.13% 17	12.50% 4	3.13%	6.25% 2 C	10.92% 32	3.81
oals and my job						
STRONGLY AGREE	AGREE	DISAGREE	STRONGLY DISAGREE	NOT APPLICABLE	TOTAL	WEIGHTED AVERAGE
52.63% 10	31.58% 6	10.53% 2	0.00%	5.26% 1	6.48% 19	4.21
28.57% 2	71.43% 5	0.00%	0.00%	0.00%	2.39%	4.29
38.30% 72	45.74% 86	10.11% 19	4.26% 8	1.60%	64.16% 188	4.13
41.67% 5	33.33%	25.00% 3	0.00%	0.00%	4.10% 12	4.17
25.00% 1	25.00% 1	50.00%	0.00%	0.00%	1.37%	3.75
25.81% 8	61.29% 19	12.90% 4	0.00%	0.00%	10.58% 31	4.13
40.63% 13	40.63% 13	12.50% 4	0.00%	6.25%	10.92% 32	4.03
W						
STRONGLY AGREE	AGREE	DISAGREE	STRONGLY DISAGREE	NOT APPLICABLE	TOTAL	WEIGHTED AVERAGE
47.37% 9	36.84% 7	10.53% 2	5.26%	0.00%	6.48% 19	4.26
57.14% 4	42.86% 3	0.00%	0.00% 0	0.00%	2.39% 7	4.57
45.74% 86	28.72% 54	10.64% 20	8.51% 16	6.38% 12	64.16% 188	3.93
33.33%	50.00%	0.00%	0.00%	16.67%	4.10% 12	3.67
50.00%	0.00%	25.00% 1	0.00%	25.00% 1	1.37%	3.25
29.03%	38.71% 12	22.58% 7	3.23% 1	6.45% 2	10.58% 31	3.74
	AGREE 47.37% 9 28.57% 2 32.98% 62 50.00% 6 25.00% 1 19.35% 6 25.00% 8 coals and my job STRONGLY AGREE 52.63% 10 28.57% 2 41.67% 5 25.00% 1 25.81% 8 40.63% 13 W STRONGLY AGREE 47.37% 9 57.14% 4 45.74% 86 33.33% 4	AGREE 47.37% 31.58% 6 28.57% 71.43% 2 5 32.98% 48.94% 62 92 50.00% 33.33% 6 4 25.00% 25.00% 1 1 1 19.35% 64.52% 6 20 25.00% 53.13% 8 17 oals and my job STRONGLY AGREE 52.63% 31.58% 10 6 28.57% 71.43% 2 5 38.30% 45.74% 72 86 41.67% 33.33% 5 4 25.00% 25.00% 1 1 1 25.81% 61.29% 8 19 40.63% 13 13 ww STRONGLY AGREE 47.37% 36.84% 9 7 57.14% 42.86% 4 33.33% 50.00% 4 6 50.00% 0.00%	AGREE 47.37% 31.58% 15.79% 9 6 3 28.57% 71.43% 0.00% 2 5 0 0 32.98% 48.94% 11.17% 62 92 21 50.00% 33.33% 8.33% 6 4 1 25.00% 25.00% 25.00% 1 1 1 1 19.35% 64.52% 16.13% 6 20 5 25.00% 53.13% 12.50% 8 17 4 coals and my job STRONGLY AGREE DISAGREE 52.63% 31.58% 10.53% 10 6 2 28.57% 71.43% 0.00% 2 5 0 0 38.30% 45.74% 10.11% 72 86 19 41.67% 33.33% 25.00% 1 1 2 2 25.81% 61.29% 19.90% 8 19 4 40.63% 40.63% 12.50% 13 13 4 W STRONGLY AGREE DISAGREE 47.37% 61.29% 12.90% 8 19 4 40.63% 40.63% 12.50% 13 13 4 W STRONGLY AGREE DISAGREE 47.37% 36.84% 12.50% 13 13 4 W STRONGLY AGREE DISAGREE 47.37% 36.84% 12.50% 13 13 4 W STRONGLY AGREE DISAGREE 47.37% 36.84% 10.53% 12.50% 13 13 13 4 W STRONGLY AGREE DISAGREE 47.37% 36.84% 10.53% 12.50% 13 13 13 4	## AGREE ## AGREE	AGREE ISABRE APPLICABLE 47.37% 31.58% 15.79% 5.26% 0.00% 28.57% 71.43% 0.00% 0.00% 0.00% 32.98% 48.94% 11.17% 6.91% 0.00% 62 92 21 13 0.00% 50.00% 33.33% 8.33% 8.33% 0.00% 6 4 1 1 0 25.00% 25.00% 0.00% 25.00% 25.00% 25.00% 0.00% 25.00% 6 4.52% 16.13% 0.00% 0.00% 6 20 5 0 0 0 25.00% 53.13% 12.50% 3.13% 6.25% 8 17 4 3.13% 6.25% AGREE DISAGREE STRONGLY NOT APPLICABLE STRONGLY AGREE DISAGREE STRONGLY NOT APPLICABLE 28.57% 71.43% 0.00% 0.00%	AGREE

I would recommend YC to a friend seeking	employment						
	STRONGLY AGREE	AGREE	DISAGREE	STRONGLY DISAGREE	NOT APPLICABLE	TOTAL	WEIGHTED AVERAGE
Q7: Career and Technical Education Center (A)	52.63% 10	47.37% 9	0.00%	0.00%	0.00%	6.48% 19	4.53
Q7: Chino Valley Center (B)	57.14% 4	42.86% 3	0.00%	0.00%	0.00%	2.39% 7	4.57
Q7: Prescott Campus (C)	57.45% 108	30.32% 57	7.45% 14	3.72% 7	1.06% 2 G	64.16% 188	4.38
Q7: Prescott Valley Center (D)	75.00% 9	16.67% 2	8.33% 1	0.00%	0.00%	4.10% 12	4.67
Q7: Sedona Center (E)	50.00%	25.00% 1	25.00% 1	0.00%	0.00%	1.37%	4.25
Q7: Verde Valley Campus (F)	48.39% 15	45.16% 14	3.23% 1	3.23%	0.00%	10.58% 31	4.39
Q7: Virtual Campus (G)	53.13% 17	34.38%	3.13%	0.00%	9.38% 3 C	10.92% 32	4.13